# ON THE FIXED POINTS THEORY OF STRONG PARTIAL B- METRIC SPACES

\*I. Issaka, B.O. Bainson, W. Obeng-Denteh, I.K. Dontwi

Department of Mathematics, Kwame Nkrumah University of Science and Technology, Kumasi, Ghana

\*Corresponding Author Email Address: issahim6@gmail.com

Phone: +233249913278

## ABSTRACT

The paper resorted to some fixed point results for Kannan type contraction in Strong Partial b-Metric Spaces. It is a generalization of metric space and strong b- metric spaces. As proves of unique fixed point theorems for a Kannan mapping in a complete metric spaces is presented. We provided some examples to illustrate our results and demonstrate how valid the result is, with suitable examples.

Keywords: Fixed point, Kannan contraction, B-Metric spaces, completeness

## INTRODUCTION

The Banach contraction principle Banach, (1922) has gained remarkable attention from researchers in mathematics. Its contractive condition on the mapping presents a good analytical framework. As a contractive principle requires a complete metric space Petrov, (2023), Kumari et al., (2023), Moshokoa & Ncogwane, (2020), Savaliya et al., (2024) as the principle to the study of the existence and uniqueness of solutions. Obtaining the extension of the contractive condition through expansion of the condition of the mapping Grnicki, (2018). A metric spaces is complete if and only if every Kannan mapping has a fixed point Mathews, (1994). Completeness in strong b- metric spaces as in Dehici et al., (2019), Moshokoa & Ncogwane, (2020), Doan, (2021), Wang et al., (2024) prove the uniqueness of the fixed point. And extensions of Kannan fixed point theory and applications can be seen in Berinde & Pacurar (2019), Kannan, (1968), Petrov & Bisht, (2023), Petrov, (2023), Grnicki, (2018), Doan, (2021), Wang et al., (2024), Pant, (2024). There are several generalizations of contractive mapping principle.

## MATERIALS AND METHODS

**Definition 1**: Kirk & Shahzad, (2014). Let a map d :  $E \times E \rightarrow R$  be a strong b- metric on a non-empty set E if for u, v, c  $\in$  E and for any  $\mu \ge 1$  the following conditions are met,

i. 
$$u = v \text{ iff } d(u, v) = 0$$

- ii. d(u, v) = d(v, u)
- iii.  $d(u, v) \le d(u, c) + \mu d(c, v)$ 
  - The triple ( E, d,  $\mu$ ) is called a strong b-metric space.

**Definition 2.** Mathews, (1994) A function  $d : E \times E \rightarrow R$  is a partial metric on a set E, such that for all u, v,  $c \in E$ , the following conditions are met.

- i. u = v iff d(u, u) = d(v, v) = d(u, v);
- ii.  $d(u, u) \leq d(u, v);$
- iii. d(u, v) = d(v, u).
- iv.  $d(u, v) \le d(u, c) + d(c, v) d(c, c)$ . hence, (E, d) is called a partial metric space.

**Definition 3.** Moshokoa & Ncogwane, (2020). Let a map d :  $E \times E \rightarrow R$  is a strong partial metric on non empty set E, given that for all u, v, c  $\in E$  and  $\mu \ge 1$  the following conditions are satisfied;

- $i. \qquad u=v \text{ iff } d(u,u)=d(v,v)=d(u,v);$
- ii.  $d(u, u) \leq d(u, v);$
- iii. d(u, v) = d(v, u)
- iv.  $\begin{aligned} \mathsf{d}(\mathsf{u},\mathsf{v}) &\leq \mathsf{d}(\mathsf{u},\mathsf{c}) + \mu \, \mathsf{d}(\mathsf{c},\mathsf{v}) \mathsf{d}(\mathsf{c},\mathsf{c}). \\ \text{hence, } (\mathsf{E},\mathsf{d},\mu) \text{ is called a strong partial b- metric space.} \end{aligned}$

**Definition 4.** Let (X, d) be a metric space. A sequence  $(x_n)$  in X converges to the limit u as  $n \rightarrow \infty$ , where

$$x_n \rightarrow u \text{ or } \lim_{n \rightarrow \infty} x_n = u$$

Given that for every  $\varepsilon > 0$ , there exist N $\in \mathbb{N}$  such that  $|x_n - u| < \varepsilon \forall n \ge N$ .

**Definition 5.** Given a metric space (X, d). A sequence  $(x_n)$  in X is said to be Cauchy sequence if for every  $\varepsilon > 0$ , there exist for m, n  $\ge N$  as  $N \in \mathbb{N}$  such that  $|x_m - x_n| < \varepsilon$ .

Definition 6. A function  $g:\mathbb{R}\to\mathbb{R}~$  is continuous at some point  $u\in \mathbb{R}$  if

$$\lim_{x \to u} g(x) = g(u)$$

 $\begin{array}{c} \text{Definition 7. A function } g: \ensuremath{\mathbb{R}} \to \ensuremath{\mathbb{R}} \ensuremath{\text{ has the limit } u \mbox{ as } x \to a, \mbox{ we write} \\ g(x) \to L & \mbox{ or } \end{array}$ 

 $\lim_{x \to a} g(x) = L$ 

If for every  $\varepsilon > 0$ , there exist  $\delta > 0$  such that  $|g(x) - L| < \varepsilon$  and for  $|x - a| < \delta$ .

**LEMMA 1**. Dehici *et al.*, (2019). Let (X, d) be a metric space. Assume that G : X  $\rightarrow$  X be a self-mapping on X satisfying that d(Gx, Gy)  $\leq \alpha d(x, y)$  for all x, y  $\in$ X. (1) where  $\alpha \in [0, \frac{1}{3}[$ . Then, G is a Kannan mapping with a constant of

contraction equal to  $\frac{\alpha}{1-\alpha}$ .

## Proof

Let  $x_0 \in \!\! \mathbf{X}$  be any arbitrary point and  $\{x_n\}$  be a sequence in X, such that

$$x_{n+1} = Gx_n \quad \forall n \ge 0$$

Given  $x_{n+1} \neq x_n \quad \forall n \ge 0$ . Let define  $F_n = d(x_{n+1}, x_n), \quad \forall n \ge 0$ And by using the inequality (1), we have  $F_{n+1} = d(x_{n+2}, x_{n+1}) = d(Gx_{n+1}, Gx_n) \le \alpha d(x_{n+1}, x_n) \le \alpha \{ d(x_{n+2}, x_{n+1}) + d(x_n, x_{n+1}) \}$  Science World Journal Vol. 19(No 3) 2024 www.scienceworldjournal.org ISSN: 1597-6343 (Online), ISSN: 2756-391X (Print) Published by Faculty of Science, Kaduna State University

$$= \alpha \{F_{n+1} + F_n\}$$

$$1 - \alpha (F_{n+1}) \le \alpha \{F_n\}$$

$$F_{n+1} \le \frac{\alpha}{1 - \alpha} \{F_n\}$$

Since,  $[0, \frac{1}{3}]$ , then  $\frac{\alpha}{1-\alpha} \in [0, \frac{1}{2}]$ . And as result, G is a Kannan mapping.

**LEMMA 2.** Dehici *et al.*, (2019). Let (X, d) be a metric space. Assume that  $G : X \to X$  be a self-mapping on X satisfying that  $d(Gx, Gy) \le \alpha d(x, y)$  for all  $x, y \in X$  (2) where  $\alpha \in [0, \frac{1}{3}[$ . Then, G is a Kannan mapping with a constant of

contraction equal to  $\frac{\alpha}{1-\alpha}$ .

#### Proof

Let  $x_0 \in X$  be any arbitrary point and  $\{x_n\}$  be a sequence in X, such that

 $\begin{array}{ll} x_{n+1} = \mathsf{G}x_n & \forall n \ge 0\\ \text{Given } x_{n+1} \neq x_n & \forall n \ge 0.\\ \text{Let define } F_n = \mathsf{d}(x_{n+1}, x_n), & \forall n \ge 0\\ \text{And by using the inequality (2), we have} \\ F_{n+1} = \mathsf{d}(x_{n+2}, x_{n+1}) = & \mathsf{d}(\mathsf{G}x_{n+1}, \mathsf{G}x_n) \le \alpha \, \mathsf{d}(x_{n+1}, x_n)\\ \le \alpha \{\mathsf{d}(x_{n+1}, x_n) + \mathsf{d}(x_{n+2}, x_{n+1}) + \mathsf{d}(x_n, x_{n+1})\}\\ = \alpha \{F_n + F_{n+1} + F_n\}\\ 1 - \alpha (F_{n+1}) \le \alpha \{2F_n\}\\ F_{n+1} \le \frac{\alpha}{1-\alpha} \{2F_n\}\\ \end{array}$ 

Since,  $[0, \frac{1}{3}]$ , then  $\frac{\alpha}{1-\alpha} \in [0, \frac{1}{2}]$ . And as result, G is a Kannan mapping.

#### **RESULTS AND DISCUSSION**

**Theorem 1.** Dehici *et al.*, (2019). Let (X, d) be a complete metric space. G :  $X \rightarrow X$  is contraction mapping if  $d(Gx, Gy) \leq \alpha d(x, y)$ For all x, y  $\in X$ , as  $\alpha \in (0, 1)$ . Then G has a unique fixed point  $u \in X$ .

Theorem 2. Dehici et al., (2019). Let (X, d) be a complete metric space and  $G:X\to X$  be a selfmapping on X. Where there exists  $\alpha \in [0, \frac{1}{2})$  such that d(Gx, Gy)  $\leq \alpha [d(x,$ Gx) + d(y,Gy)] (1) for all x, y  $\in$  X. Then G has a unique fixed point  $u \in$  X. Proof Let  $x_0 \in X$  be any arbitrary point and  $\{x_n\}$  be a sequence in X, for all n≥0 As  $x_{n+1} \neq x_n \quad \forall n \ge 0$ . It follows from definition (1) that  $d(x_{n+2}, x_{n+1})$  $\leq \alpha d(x_{n+1}, x_n)$  $\leq \alpha\{(\mathsf{d}(x_{n+2}, x_{n+1}) + \mathsf{d}(x_{n+1}, x_n)\} \\ \mathsf{d}(x_{n+2}, x_{n+1}) \leq \frac{\alpha}{1-\alpha}\{\mathsf{d}(x_{n+1}, x_n)\} \\ \text{since condition (1) is satisfied and it is obvious that}$  $d(x_{n+2}, x_{n+1}) < d(x_{n+1}, x_n) \forall n \ge 0$ hence,  $d(x_{n+1}, x_n)$  is monotonically decreasing and bounded below sequence. If there exist  $\beta \ge 0$  such that we have the  $\lim_{n \to \infty} d(x_{n+1}, x_n) = \beta$ Now, let assume  $\beta > 0$ . Then, from the inequality (1), we get  $d(x_{n+2}, x_{n+1}) \le \alpha_n \{ d(x_{n+2}, x_{n+1}) + d(x_{n+1}, x_n) \}$ given that  $d(x_{n+2}, x_{n+1})$  $\frac{d(x_{n+2}, x_{n+1})}{d(x_{n+2}, x_{n+1}) + d(x_{n+1}, x_n)} \le \alpha_n, \forall n \ge 0$ 

#### as expression

$$\frac{\frac{\mathrm{d}(x_{n+2}, x_{n+1})}{\mathrm{d}(x_{n+2}, x_{n+1}) + \mathrm{d}(x_{n+1}, x_n)} \leq \lim_{n \to \infty} \alpha_n \\ \leq \frac{\mathrm{d}(x_{n+2}, x_{n+1})}{\mathrm{d}(x_{n+2}, x_{n+1}) + \mathrm{d}(x_{n+1}, x_n)},$$

and this is a contradiction. Hence  $\lim_{n\to\infty} \alpha_n = \beta = 0$ .

And given that  $\mu \in [0, \frac{1}{2})$  such that

$$d(x_n, x_{n+1}) \le \mu \ d(x_{n-1}, x_n) \le \dots \le \mu^n d(x_0, x_1) \dots$$
  
(2)

given  $G_n = d(x_n, x_{n+1})$  and  $G_{n-1} = d(x_{n-1}, x_n)$ , and reading from (2), we have

 $G_n \leq \mu G_{n-1} \leq \mu^2 \ G_{n-2} \leq \dots \leq \mu^n G_0$ 

We now demonstrate that  $\{x_n\}$  is a Cauchy sequence in X. We let m > n and by definition (2) and (1), we get

$$\begin{aligned} \mathsf{d}(x_n, x_m) &\leq \{ \mathsf{d}(x_n, x_{n+1}) + \mathsf{d}(x_{n+1}, x_{n+2}) + \dots + \mathsf{d}(x_{n+m-1}, x_m) \} \\ &\quad -\{ \mathsf{d}(x_{n+1}, x_{n+1}) + \mathsf{d}(x_{n+2}, x_{n+2}) + \dots + \mathsf{d}(x_{n+m-1}, x_{n+m-1}) \} \\ &\quad = \{ \mathsf{d}(x_n, x_{n+1}) + \mathsf{d}(x_{n+1}, x_{n+2}) + \dots + \mathsf{d}(x_{n+m-1}, x_m) \} \\ &\quad x_m) \} \\ &\leq \mu^n \mathsf{d}(x_0, x_1) + \mu^{n+1} \mathsf{d}(x_0, x_1) + \dots + \mu^{m+1} \mathsf{d}(x_0, x_1) \\ &\quad = \mu^n [\mathsf{d}(x_0, x_1) + \mu \mathsf{d}(x_0, x_1) + \dots + \mu^{m-1} \mathsf{d}(x_0, x_1) ] \\ &\quad = \mu^n [\mathsf{d}(x_0, x_1) + \mu \mathsf{d}(x_0, x_1) + \dots + \mu^{m-1} \mathsf{d}(x_0, x_1) ] \end{aligned}$$

Applying n, m  $\rightarrow \infty$  as d( $x_n, x_m$ )  $\rightarrow 0$ , for  $\mu \in [0, \frac{1}{2})$ , hence { $x_n$ } is a Cauchy sequence in X. In addition, since (X, d) is complete, We now by (iv) of Definition 3.

$$\begin{aligned} &\mathsf{d}(x_n, x_m) \leq \alpha \{ \, \mathsf{d}(x_{n-1}, x_m) + \mathsf{d}(x_m, x_n) \} + \mu \, \mathsf{d}(x_{n-1}, x_n) \\ &- \,\mathsf{d}(x_{n-1}, x_{n-1}) \\ &\mathsf{d}(x_n, x_m) \, (1 - \alpha) \leq \alpha \{ \, \mathsf{d}(x_{n-1}, x_m) \} + \mu \, \mathsf{d}(x_{n-1}, x_n) \end{aligned}$$

$$\leq \frac{\alpha}{1-\alpha} \{ d(x_{n-1}, x_m) \} + \frac{\mu}{1-\alpha} d(x_{n-1}, x_n)$$
(3)

And as n,  $m \to \infty$ , the right hand side of (3) moves to zero. so there exist  $u \in X$  such that  $x_n \to u$ , as  $n \to \infty$ ,  $x \in X$ , we have

$$d(\operatorname{Gu}, u) = \lim_{n \to \infty} d(u, x_n) = \lim_{n, m \to \infty} d(x_n, x_m) = 0$$
(4)

At this point, we observe that by (4), d(Gu, u) = 0, we are required to demonstrate that u is a fixed point of G. By (ii) of definition (3), we have

 $d(Gu, Gu) \le d(Gu, u)$ 

and since d(Gu, u) = 0 means d(Gu, Gu) = 0 as d(u, x) = 0. Thus, we have

d(Gu, Gu) = d(Gu, u) = d(u, u)

so we have Gu = u by (i) of definition 3. Hence, u is a fixed point of G.

**Uniqueness**: Let v be another fixed point of G with  $u \neq v$ , we have d(u, v) = d(Gu, Gv)

 $\leq \alpha \{d(u, v) + d(Gu, Gv)\}$ And by the inequality  $d(u, v) \leq \mu d(u, v)$ Implies d(u, v) = 0as  $\mu \in [0, \frac{1}{2})$ Which implies that u=v, thus the fixed point of G, is unique.

**Example1.** Let E = {0, 1, 2} and d: E×E → [0, ∞) be defined by d(0, 0) = d(1, 1) = 0, d(2, 2) =  $\frac{1}{3}$ •d(1, 0) = d(0, 1) =  $\frac{2}{3}$ •d(1, 2) = d(2, 1) = 4 •d(2, 0) = d(0, 2) = 7 where we have d(u, u)<d(u, v), ∀ u, v ∈ E 1. d(0, 1) ≤ d(0, 2) +  $\alpha$ d(2, 1) - d(2, 2), ∀  $\alpha \ge 1$ 2. d(1, 0) ≤ d(1, 2) +  $\alpha$ d(2, 0) - d(2, 2), ∀  $\alpha \ge 1$ 

3.  $d(1, 2) \le d(1, 0) + \alpha d(0, 2) - d(0, 0), \forall \alpha \ge 1$ 

4. d(2, 1)  $\leq$  d(2, 0) +  $\alpha$ d(0, 1) - d(0, 0),  $\forall \alpha \geq$ 1

5.  $d(2, 0) \le d(2, 1) + \alpha d(1, 0) - d(1, 1), \forall \alpha \ge \frac{9}{2}$ 

6.  $d(0, 2) \le d(0, 1) + \alpha d(1, 2) - d(1, 1), \forall \alpha \ge \frac{19}{3}$ The result indicate (E,  $\alpha$ , d) is a Strong Partial b-Metric Space, where  $\alpha = \frac{19}{3}$  but it is neither strong b metric nor metric space as  $d(2, 2) = \frac{1}{2} \ne 0$ .

So, the above cannot be applied to theorem 2, therefore let's T : E  $\rightarrow$  E be a self map defined by T0 = 0, T1 =0, T2 =1 and  $\mu \in$ G defined by

$$\mu(x) = \frac{1}{2}\sqrt[2]{2^{-\frac{x}{5}}}$$
 for x>0 and  $\mu(0) \in [0, \frac{1}{2})$  then

• d(T0, T1) = d(0, 0) = 0 < 0.3180 =  $\frac{1}{3}\sqrt[2]{2^{-\frac{2}{15}}} = \mu(d(0, 1))\{d(0, T0) + d(1, T1)\}$ 

• d(T1, T2) = d(0, 1) =  $\frac{2}{3}$  < 1.7683 =  $\frac{7}{3}\sqrt[2]{2^{-\frac{4}{5}}}$  =  $\mu$ (d(1, 2)){d(1, T1) + d(2, T2)}

• d(T0, T2) = d(0, 1) =  $\frac{2}{3}$  < 1.2311 = 2  $\sqrt[2]{2^{-\frac{7}{5}}}$  =  $\mu$ (d(0, 2)){d(0, T0) + d(2, T2)}

therefore, we have G meeting all the conditions of theorem 2 and has a fixed point u = 0.

**Example 2.** Given T : E  $\rightarrow$  E and v, u  $\in [0, \frac{1}{2}]$ , we have

 $Tv = \begin{cases} \frac{v}{4} , if \quad v \in [0, \frac{1}{2}[\\ \frac{1}{8} , if \quad v = \frac{1}{2} \\ \text{Let } v, u \in [0, \frac{1}{2}[. \text{ Thus} \\ |Tv - Tu| = \left|\frac{v}{4} - \frac{u}{4}\right| = \frac{1}{4}|v - u| \\ \text{and} \\ |v - Tv| = \left|\frac{v}{4} - v\right| = \frac{3}{4}v, \quad |u - Tu| = \frac{3}{4}u \end{cases}$ 

which implies that

$$\begin{split} |Tv - Tu| &= \frac{1}{4} |v - u| \leq \frac{30}{89} (|v - Tv| + |u - Tu|) \\ \text{now, if } v \in [0, \frac{1}{2}[ \text{ and } u = \frac{1}{2}, \text{ we get} \\ |Tv - Tu| &= \left|\frac{v}{4} - \frac{1}{8}\right| \\ |v - Tv| &= \frac{3}{4} v , \quad |T1 - 1| = \frac{7}{8} \\ \text{Consequently, we have } v, u \in [0, \frac{1}{2}], \text{ and thus} \\ |Tv - Tu| &\leq \frac{v}{4} + \frac{1}{8} \leq \frac{30}{89} (|v - Tv| + |u - Tu|) \\ \text{for} \\ \mu &= \frac{30}{89} \in (0, \frac{1}{2}) \end{split}$$

Theorem 4 Dehici et al., (2019). Let (X, d) be a complete metric space and  $G: X \rightarrow X$  be a selfmapping on X. Where there exists  $\alpha \in [0, \frac{1}{2})$  such that  $d(Gx, Gy) \leq \alpha[d(x, Gx) + d(y, Gy) +$ d(x, y)] (5) for all x, y  $\in$  X. Then G has a unique fixed point  $u \in$  X. Proof Let  $x_0 \in X$  be any arbitrary point and  $\{x_n\}$  be a sequence in X, for all n≥0 and as  $x_{n+1} \neq x_n \quad \forall n \ge 0$ . It follows from definition (1) that  $d(x_{n+2}, x_{n+1})$  $\leq \alpha d(x_{n+1}, x_n)$  $\leq \alpha \{ \mathsf{d}(x_n, x_{n+1}) + \mathsf{d}(x_{n+2}, x_{n+1}) + \mathsf{d}(x_{n+1}, x_n) \} \\ \mathsf{d}(x_{n+2}, x_{n+1}) \leq \frac{\alpha}{1-\alpha} \{ \mathsf{d}(x_{n+1}, x_n) + \mathsf{d}(x_n, x_{n+1}) \}$ since (1) is satisfied and it is obvious that  $d(x_{n+2}, x_{n+1}) < d(x_{n+1}, x_n) \forall n \ge 0$ hence,  $d(x_{n+1}, x_n)$  is monotonically decreasing and bounded below sequence. If there exist  $\beta \ge 0$  such that we have the  $\lim_{n \to \infty} d(x_{n+1}, x_n) = \beta$ Now, let assume  $\beta > 0$ . Then, from theorem (4),  $d(x_{n+2}, x_{n+1} \le \alpha_n \{ d(x_n, x_{n+1}) + d(x_{n+1}, x_{n+2}) + d(x_{n+1}, x_n) \}$ (6) given that  $\frac{\mathrm{d}(x_{n+2},x_{n+1})}{\{\mathrm{d}(x_n,x_{n+1})+\mathrm{d}(x_{n+1},x_{n+2})+\mathrm{d}(x_{n+1},x_n)\}} \leq \alpha_n,$ ∀ n>0 taking  $\frac{\mathrm{d}(x_{n+2},x_{n+1})}{\{\mathrm{d}(x_{n},x_{n+1})+\mathrm{d}(x_{n+1},x_{n+2})+\mathrm{d}(x_{n+1},x_{n})\}} \leq \lim_{n \to \infty} \alpha_n$  $d(x_{n+2}, x_{n+1})$  $\leq \frac{\alpha_{n+1}, \alpha_{n+1}}{\{d(x_n, x_{n+1}) + d(x_{n+1}, x_{n+2}) + d(x_{n+1}, x_n)\}},$ and this is a contradiction. Hence  $\lim_{n \to \infty} \alpha_n = \beta = 0.$ and if there exist  $\mu \in [0, \frac{1}{2})$  such that  $d(x_n, x_{n+1}) \le \mu \ d(x_{n-1}, x_n) \le \dots \le \mu^n d(x_0, x_1) \dots$ (7) given  $F_n = d(x_n, x_{n+1})$  and  $F_{n-1} = d(x_{n-1}, x_n)$ , and reading from (7), we have  $F_n \le \mu F_{n-1} \le \mu^2 F_{n-2} \le \dots \le \mu^n F_0$ We now demonstrate that  $\{x_n\}$  is a Cauchy sequence in X. We let

$$-\{d(x_{n+1}, x_{n+1}) + d(x_{n+2}, x_{n+2}) + \dots + d(x_{n+m-1}, x_{n+m-1})\}$$

 $\leq \mu^{n} d(x_{0}, x_{1}) + \mu^{n+1} d(x_{0}, x_{1}) + \dots + \mu^{n+m-1} d(x_{0}, x_{1})$ 

$$= \mu^{n}[\mathsf{d}(x_{0}, x_{1}) + \mu\mathsf{d}(x_{0}, x_{1}) + \ldots + \mu^{m-1}\mathsf{d}(x_{0})$$

 $= \mu^{n} [1 + \mu + \dots \mu^{m-1}] G_{0}$ 

Applying n, m  $\rightarrow \infty$  as d( $x_n, x_m$ )  $\rightarrow 0$ , for  $\mu \in [0, \frac{1}{2})$ , hence  $\{x_n\}$  is a Cauchy sequence in X. In addition, since (X, d) is complete, We now by (iv) of definition 3,

 $d(x_n, x_m) \le \alpha \{ d(x_{n-1}, x_m) + d(x_m, x_n) + d(x_n, x_{n-1}) + d(x_n, x_n) + d(x_n, x_n) \}$  $\mu d(x_{n-1}, x_n) - d(x_{n-1}, x_{n-1})$ 

 $\begin{array}{l} (x_{n-1}, x_n) - \mathfrak{a}(x_{n-1}, x_{n-1}) \\ \mathfrak{d}(x_n, x_m) \ (1-\alpha) \leq \ \alpha \{ \ \mathfrak{d}(x_{n-1}, x_m) \ + \ \mathfrak{d}(x_n, x_{n-1}) \} \ + \end{array}$  $\mu d(x_n, x_m)$ 

 $\leq \frac{1}{1-\alpha} \{ d(x_{n-1}, x_m) + d(x_n, x_{n-1}) \} + \frac{\mu}{1-\alpha} d(x_n, x_m)$ (8) (8)

And as n,  $m \rightarrow \infty$ , the right hand side of moves to zero.

so there exist 
$$u \in X$$
 such that  $x_n \to u$ , as  $n \to \infty$ ,  $x \in X$ , we have  
 $d(Gu, u) = \lim_{n \to \infty} d(u, x_n) = \lim_{n,m \to \infty} d(x_n, x_m) = 0$ 

(9)

At this point, we observe that by (9), d(Gu, u) = 0, we are required to demonstrate that u is a fixed point of G. By (ii) of definition (3), we have

 $d(Gu, Gu) \le d(Gu, u)$ 

and since d(Gu, u) = 0 means d(Gu, Gu) = 0 as d(u, x) = 0. Thus, we have

d(Gu, Gu) = d(Gu, u) = d(u, u)

so we have Gu = u by (i) of definition 3. Hence, u is a fixed point of G.

**Uniqueness:** Let v be another fixed point of T with  $u \neq v$ , we have d(u, v) = d(Gu, Gv) $\leq \alpha \{ d(u, v) + d(u, Gu) + (v, Gv) \}$ 

> As a result  $d(u, v) \leq \mu d(u, v)$ Implies d(u, v) = 0As  $\mu \in [0, \frac{1}{2})$ Which implies that u=v, thus the fixed point of G, is unique.

**Example 3:** Given  $E = \{3, 5, 7\}$  and d:  $E \times E \rightarrow [0, \infty)$  be defined by

 $d(3, 3) = d(5, 5) = 0, d(7, 7) = \frac{1}{r}$ •  $d(1, 3) = d(3, 1) = \frac{1}{4}$ • d(1, 5) = d(5, 1) = 3• d(5, 3) = d(3, 5) = 6where we have  $d(u, u) < d(u, v), \forall u, v \in E$ 

- 1.  $d(1, 3) \le d(1, 5) + \alpha d(5, 3) d(5, 5), \forall \alpha \ge 1$
- 2.  $d(3, 1) \le d(3, 5) + \alpha d(5, 3) d(5, 5), \forall \alpha \ge 1$
- 3.  $d(1, 5) \le d(1, 3) + \alpha d(3, 5) d(3, 3), \forall \alpha \ge 1$

- 4.  $d(5, 1) \le d(5, 3) + \alpha d(3, 1) d(3, 3), \forall \alpha \ge 1$
- 5.  $d(5, 3) \le d(5, 1) + \alpha d(1, 3) d(1, 1), \forall \alpha \ge 12$

6.  $d(3,5) \le d(3,1) + \alpha d(1,5) - d(1,1), \forall \alpha \ge \frac{23}{12}$ The result indicate (E,  $\alpha$ , d) is a SPb MS, where  $\alpha = 12$ , but it is neither strong b metric nor metric space as  $d(5, 5) = \frac{1}{2} \neq 0$ . So, the above cannot be applied to theorem (), therefore let's T : E  $\rightarrow$  E be a self map defined by T1= 1, T3 =1, T5 =3 and  $\lambda \in G$  defined by  $\mu(\mathbf{x}) = \frac{1}{3} \sqrt[2]{2^{-\frac{x}{10}}}$ for x>0 and  $\mu(0) \in [0, \frac{1}{2})$ then • d(T1, T3) = d(0, 0) = 0 < 0.1652 =  $\frac{1}{6}\sqrt[2]{2-\frac{1}{40}} = \mu(d(1, 3))\{d(1, 3)\}$ 

T1) + d(3, T3) + d(1, 3)• d(T1, T5) = d(1, 3) =  $\frac{1}{4}$  < 2.7037 =  $3\sqrt[2]{2^{-\frac{3}{10}}}$  =  $\mu$ (d(1, 5)){d(1, T1) + d(5, T5)+d(1, 5)}

• d(T3, T5) = d(1, 3) = 
$$\frac{1}{4} < 3.3167 = \frac{49}{12} \sqrt[2]{2^{-\frac{6}{10}}} = \mu(d(3, 5)) \{ d(3, T3) + d(5, T5) + d(3, 5) \}$$

therefore, we have S meeting all the conditions of theorem (4) and has a fixed point u = 0.

**Example** 4. Given T : E  $\rightarrow$  E and v, u  $\in [0, \frac{1}{2}]$ , we have

$$Tv = \begin{cases} \frac{v}{13} & \text{, if } v \in [0, \frac{1}{2}[\\ \frac{1}{11} & \text{, if } v = \frac{1}{2} \end{cases}$$
  
Let v, u \in [0,  $\frac{1}{2}[$ . Thus  
 $|Tv - Tu| = \left|\frac{v}{13} - \frac{u}{13}\right| = \frac{1}{13}|v - u|$   
and  
 $|v - Tv| = \left|\frac{v}{13} - v\right| = \frac{12}{13}v$ ,  $|u - Tu| = \frac{12}{13}u$  and  $|v - u| = v - u$ 

which implies that

Which implies that  

$$|Tv - Tu| = \lambda\{|v - Tv| + |u - Tu| + |v - u|\}$$

$$= \{\frac{1}{13}v + \frac{12}{13}u + v - u\}$$

$$= \{\frac{v}{13} + \frac{u}{13}\} = \frac{1}{13}(v + u)$$

$$|Tv - Tu| = \frac{1}{13}|v - u| \le \frac{1}{13}(v + u)$$
now, if  $v \in [0, \frac{1}{2}[$  and  $u = \frac{1}{2}$ , we get  

$$|Tv - Tu| = \left|\frac{v}{13} - \frac{1}{11}\right|$$

$$|v - Tv| = \frac{12}{13}v, \quad |T1 - 1| = \frac{10}{11}, |v - u| = |v - 1)$$
Consequently, we have  $v \in [0, \frac{1}{2}]$  and thus

ly, we have v,  $u \in [0, \frac{1}{2}]$ , and thus  $|Tv - Tu| \le \frac{v}{13} + \frac{1}{11} \le \frac{1}{13} (|v - Tv| + |u - Tu| + |v - u|)$ 

### Acknowledgement

The authors would like to thank the editors and referees for their invaluable comments and suggestion for the improvement of this paper.

Science World Journal Vol. 19(No 3) 2024 www.scienceworldjournal.org ISSN: 1597-6343 (Online), ISSN: 2756-391X (Print) Published by Faculty of Science, Kaduna State University

#### REFERENCES

- Banach, S. (1922). Sur les Operations dons les ensembles abstraits et leurs applications our equations integrals, Fund Math. 3, 133-181
- Berinde, V., & Pacurar, M. (2019). Approximating Fixed Points of Enriched Chatterjea Contractions by Krasnoselskij iterative method in Banach Spaces.
- Dehici, A., Mesmouli, M. B., & Karapinar, E. (2019). On The Fixed Points of Large- Kannan Contraction Mappings And Applications. Applied Mathematics E-Notes, 19, 535-551.
- Doan, H. (2021). A new type of Kannan's fixed point theorem in Strong b- metric spaces. AIMS Mathematics, 6(7), 7895 - 7908.
- Grnicki, J. (2018). Various extensions of Kannans fixed point theory and Applicactions, 20(1), 1-12.
- Kannan, R. (1968). Some Results on Fixed Points. Bull. Calcutta Math. Soc. 60, 71 – 76.
- Kirk, W., & Shahzad, N. (2014). Fixed point btheory in distance spaces. Cham, Switzerland : Springer International Publishing.
- Kumari, N., Rathee, S., & Mor, P. (2023). Fixed Point Theorems in Strong Partial B-Metric Spaces. Bulletin of Mathematical Analysis And Applicationss. Vol. 15, 2, 14- 31.
- Mathews, S. G. (1994). Partial metric topology. Annals of the New York Academy of Sciences, 728 (1), 183 197.

- Moshokoa, S., & Ncogwane, F. (2020). On Completeness in Strong partial b- metric spaces, strong b- metric spaces and the O- Cauchy completions. Topology and its Applications 275, 107011.
- Pant, R. P. (2024). An Extended Kannan Contraction Mapping and Applications. International Journal of Mathematical, Engineering and Management Sciences Vol. 9, No. 4, 931-942.
- Petrov, E., & Bisht, R. K. (2023). Fixed Point Theorem for Generalized Kannan Type Mappings. arXiv:2308.05419v2 [math. GN].
- Petrov, E. (2023). Fixed point Theorem for Mapping Contracting Perimeters of Triangles. J. Fixed Point Theory Appl. 25, 1-11.
- Savaliya, J., Gopal, D., Moreno, J.M., & Srivastava, S.K. (2024). Solution to the Rhoades' problem under minimal metric structure. The Journal of Analysis, 1-13. https://doi.org/10.1007/s41478-024-00722-7.
- Wang, P., He\*, F. & Liu, X. (2024). Answers to questions on Kannan's fixed point theorem in strong b-metric spaces. School of Mathematical Sciences, Inner Mongolia University, Hohhot 010021, AIMS Mathematics, 9(2): 3671–3684.